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1{F v X2KR—Y 4H~3A1 26 20 2,000 7, 000/4 10 6 16 171 113 284

2|V 7 b L— 4H~3A 27 20 |2,0000r3,000| 6, 000/4E 3 6 9 97 123 220

3|EER M~k (k) 4A~3A4 40 20 |2, 0000r3, 000 8, 000/4F 5 9 14 132 237 369

A[EER W~ (OR) 4A~3A4 40 20 |2, 0000r3, 000 8, 000/4E 1 16 17 37 483 520

5|EEk  Mfk~Fifk (L) 4A~3A4 27 20 |2, 0000r3, 000 7, 000/4E 8 5 13 131 105 236

6(7F TR TNT (K) 4A~3A1 41 30 |2,0000r3,000| 5, 000/4% 7 11 18 207 298 505

NIy ka7 () 4A~3A4 46 30 |2 0000r3,000f 5, 000/4F 7 8 15 259 282 541

8|7 v MY EE IR 4H~3A1 26 15 2,000 |600x%[al/A 13 0 13 231 0 231

9|7 v MY AFE 19 (K) 4H~3A1 40 20 2,000 |600x%[al/A 20 0 20 665 0 665
10|7 v hYv#E=E 19 (+) 4H~3A1 26 20 2,000 |600x[al/A 16 0 16 301 10 311
1|7 v Y A#EE U2 (OR) 4H~3A1 40 20 2,000 |600x%[al/A 18 0 18 601 0 601
1206 v PRy FH U RHE Xv| 4H~3H 40 20 2,000 |850%[al/A 1 10 11 23 325 348
1Blby TRy TFHURHE V= 4H~3H 36 25 2,000 |950%[al/A 0 14 14 0 479 479
14|k v TRy THURHE V= 4H~3H 40 25 2,000 |950%[al/A 2 22 24 76 750 826
15| vy PRy FH U AHE 4— 4H~3H 40 14 2,000 |950%[al/A 0 8 8 15 313 328
16|77 —~_"—o X 2AH=E Xy | 4H~3H 41 20 2,000 |850%[al/A 2 19 21 73 739 812
17| 7=~ "= X AHE Yo 4A~3H 41 20 2,000 |950%[al/A 0 16 16 0 560 560
18|72 5#HE FoyX 4H~3A1 39 20 2,000 |750%[al/A 8 6 14 301 183 484
[N ZEIHE V=T 4H~3A1 39 20 2,000 |850%[al/A 6 6 12 183 302 485
20(Be EHE FoX 4H~3A1 37 20 2,000 |850%[al/A 10 5 15 275 135 410
21| L= va=7 4H~3A1 37 25 2,000 |850%[al/A 16 5 21 411 193 604
22| =Ry hAR—VEE 4H~3A1 40 20 2,000 9, 000/ 4 11 4 15 270 126 396
23 [P A B BRI E TA~3A 33 30 2,000 8, 000/ 4 27 0 27 334 0 334
24|BET =R 4H~114 26 20 3,000 | 10, 000/4 11 3 14 227 68 295
25| B AR 4H~3A 40 20 |2, 0000r3, 000| 8, 000/4F 5 12 17 150 354 504
26| LWHEER &M M L1E (Y 4H~3H 40 20 |1, 4000r2, 400|450 X [2]/ A 1 19 20 12 687 699
1|RES LVWHEAR &M L2 (g 4H~3H 40 20 |1, 4000r2, 400|450 X [2]/ A 0 20 20 0 657 657
28(V—v =&y b (LEEE) 4H~3A1 40 25 |1, 4000r2, 400|450 X [A]/ A 0 21 21 0 698 698
2977 XA (R) 4H~3A1 40 40 |1, 4000r2, 400|450 X [a]/ B 0 14 14 0 347 347
30|ZUMBA® 4A~3A1 40 40 |1, 4000r2, 400|450 X [E]/ B 0 26 26 0 733 733
Sl|EEL IV —rva v 4H~3A1 36 30 |1, 4000r2, 400|450 X [=]/ A 10 19 29 239 555 794
RnENERENL—=T 4H~3A1 22 30 |1, 4000r2, 400|450 X [A]/ A 4 11 15 39 163 202
B LnSvey s ad (%) 4H~3H 40 40 |1, 4000r2, 400|450 X [a]/ B 0 23 23 0 888 888
V= —Fy b (BRl=It] 4A~3A 40 25 |1, 4000r2, 400|450 X [2]/ A 0 14 14 0 460 460
BT ZRNETT 4 A 4H~3A1 40 16 |1, 4000r2, 400|450 X [a]/ B 1 14 15 34 409 443
36| AToAT=T 1 4H~3A 40 40 |1,4000r2, 400|450 % [=]/ H 0 14 14 0 452 452
37| & LW A EETFRES) 4H~3A1 40 40 |1, 4000r2, 400|450 X [a]/ B 4 36 40 97 1,193 1,290
38| 7 T4 A (AR 4H~3A1 40 25 |1, 4000r2, 400|450 X [7]/ A 0 16 16 0 571 571
9[RE LVEFELNWE S 4H~3A1 40 40 |1, 4000r2, 400|450 X [a]/ B 0 14 14 0 424 424
40|<rve vz al (R 4H~3A 40 40 |1, 4000r2, 400|450 % [a]/ A 5 41 46 124 1,089 1,213
41| KiE% 4A~3A1 40 40 |1, 400012, 400|450 X [E]/ B 7 13 20 218 483 701
2(V7 hx=T7nmrres A 4H~3A1 40 40 |1, 4000r2, 400|450 X [a]/ B 0 16 16 0 532 532
43|7UMBA®  (SZAL£:4E) 4HA~3AH 38 20 |1, 4000r2, 400|450 X [8]/ A 0 20 20 0 557 557
B Lo ELROO LS T 4H~3A1 36 16 |1, 4000r2, 400|750 X [A]/ B 1 15 16 26 330 356
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T AHE_NFEEL-3E (&) | 4A~3A 43 2,000 |850%[al/A 0 3 3 0 133 133
T = A 1 4A~3H 43 2,000 |950x[El/H 3 9 12 93 336 429
T = A 4H~3A 41 1, 400012, 400| 1, 200 X |n|, J 1 3 4 27 132 159
=2 4A~3A8 0 1, 400012, 400| 1, 200 X |l 0 0 0 0 0
T = A 4H~3A 41 1, 400012, 400| 1, 200 X |n|; J 3 7 10 100 231 331
=28 4A~3A8 0 1, 400012, 400| 1, 200 X |l 0 0 0 0 0
T = A 4H~3A 47 1, 400012, 400| 1, 200 X |n|; J 3 7 10 102 279 381
T = A 4H~3A 23 1, 400012, 400| 1, 200 X |n|; J 5 5 10 82 111 193
T =A% 4H~3H8 19 1, 400012, 400| 1, 200 X || 6 1 7 62 16
T = A 4H~3A 29 1, 400012, 400| 1, 200 X |n|, J 5 0 5 117 12 129
T = A 4H~3A 27 1, 400012, 400| 1, 200 X |n|; J 1 5 6 8 99 107
T = A 4H~3A 17 1, 400012, 400| 1, 200 X |n|, J 5 6 11 55 87 142
T = A 4H~3H8 18 1, 400012, 400| 1, 200 X |al, 6 2 8 7 11
F = 2AHE_ bk 4H~3A 26 1, 400012, 400 1, 200 X ||, H 1 6 7 23 139 162
Fo2AHE ¥ - BR(R) K 4H~3A 21 1, 400012, 400 1, 200 X ||, H 0 8 8 41 107 148
dk5:BBC 4H~3A1 136 2,000 6,000/ A 28 2 30 2,379 158 2,537
ZDfh 4H~3A1 0 — - 0 0 0 0 0

2,171 307 621 928 9,125 19, 257 28, 382
OHEIZBMT D56 EERBBMNE,  XKIBRAR—YZLEREITMA (ERAERE : KAL 850/, AL T800M, 655 L, 200 )
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5 = By i 5 = By #
1|7 77 aBFE ks 307 621 0 928 9,125 19, 257 0 28, 382
HERE (1< - 2BAED) A 807 1,672 0 2, 479 1,145 2,238 0 3,383
3| HiT - ZEEFE ks 1,173 1,037 650 2, 860 1,173 1,037 650 2, 860
i 2, 287 3, 330 650 6, 267 11, 443 22, 532 650 | 34,625




